Chemistry 3311-100
Cirganic Chemistry/Dic. Barney Ellison
Friday: May 7.99 @& 07:30 — 10:30/Final Exam/Chem |40

Name: Il':-'ﬂ' i (please print)

L. {20 pts) What is the product of the reacton? I.ﬂ-iﬂ B wasjor F"’M"—J
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2. (10 pts) Carry out the following ranstormations.
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3. (20 pts) What is the product of the reaction?
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4. {10 ps) Carry vul the following ransformations
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5. {10 prs) What is the mechanism for the following reaction’
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6. (20 pts) Carry vut the following transformations.
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710 pts) What 15 the product of this reaction? Write me a mechanism.
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& {10 prs) What is the product of this reaction” Write me a mechanism
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4. (20 prs) The tosylates below are subjected to E2 conditions. What are the reaction
producls? Write me a mechanism
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10, (10 pts) The glucose molecule is sketched below. The squiggly bond merely means
that the hvdroxyl group at the 1-position can be up or down. That s there are two
struchares for glucose, Draw these twa molecules in 3 dimensions.
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11 {10 pts) Compound 1 is treated with O, and then worked up wath HpO: The
following products are isolated. When 1 is subjected to catalytic hydrogenaton it is
transformed into | -isopropyl-4-methylcyclohexane, What is the chemical structure of 17
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12. {20 pts) Provide syntheses for the following targets. You must use alkynes CORLANINE
no mare than 4 C atems. Mechanisms are not required.
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13, (10 prs) Benzoy] peroxide, CaH -0 04-0C-C,IT, is 8 good radical initiator for many
radical reactions. Upon heatng o a moderate femperatune, this acyl perovide decomposes
and generates & pair of phenyl mdicals, CgH; What is the mechanism for this

decomposition?
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14. (10 pts} What is the mechanism for the faillawing reaction?
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15 {10 p1s) Explain the stereochemical results of the photochlarinatian of the optically
active compeound 2. Whae is the configuration of 2, R or 57 Why does the reaction destroy
the stereochemistry?
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